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BAI KHAO SAT: TRAC NGHIEM
Question 1: A shop sells milk in paper cartons. The price for 1 carton of milk is 5000 VND. To
encourage the recycling and environment protection movement, the shop allows customers to
exchange 5 empty cartons for 1 carton of milk. Lan is given 90000 VND by her mother to buy these
cartons of milk. With that sum of money, after buying and exchanging, how many cartons of milk can
Lan have altogether?

A. 22 cartons. B. 23 cartons. C. 18 cartons. D. 21 cartons.
Question 2: The following sequence is arranged according to a specific rule:
1, 6, 15, 45, 66, 91.
Which figure fits the blank space?
A. 27 B. 26 C.25 D. 28

Question 3: The Indian proverb “And when the last tree has died, and the last river has been
poisoned, and the last fish caught, will we realize we cannot eat money.” expresses which of the
following viewpoints on life?

A. We have to treasure the money we make.

B. If we have money, we can buy everything.

C. We have to preserve all the things we have.

D. We have to treasure and preserve the environment.
Question 4: Hoi An is an acient town in central Viét Nam. Hoi An used to be a busy international
commercial port in the 17th and 18th centuries. Nowadays, H0i An still maintains its ancient
architecture and culture, and it is one of the most famous tourist attractions in Viét Nam.

The ancient town Hdi An belongs to which of the following provinces / cities?

A. Da Ning city. B. Khanh Hoa province.

C. Quang Nam province. D. Thira Thién - Hué province.
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Question 6: Following are some features about a . oy
Vietnamese historic figure: 5 " Sl ?\ﬁ )
? “Trong nhitng nam o Phdp, ong chi y quan sat, tim # N x ?
hiéu sy giau co, van minh cua nuwoc Phap de tim cach duwa # *ﬁ\‘ ) .
nwoc nha thoat khoi canh ngheo doi, lac hdu.

Vé nude, ong trinh lén nha vua nhiéu ban diéu tran, bay t6 mong mudn lam cho dat nwée gidu
manh. Ong dé nghi mé réng quan hé ngoai giao véi nhiéu nude, théng thwong véi thé gidi, thué
nguwoi mede ngodi dén giip nhan dan ta khai thac cdac nguon loi vé bién, rimg, dat dai, khodng sdn;
mo cdc truong day dong tau, duc sung, sw dung may moc...

Dui nhitng dé nghi canh tan dat nude cia ong khong dwoc vua, quan thoi bdy gio thue hién,
ngueoi doi sau van kinh trong éng, coi éng la nguoi hiéu biét sdu réng, c¢é long yéu nwéc va mong
muén ddn giau, mede manh.”

Who was he?

A. Phan Boi Chau. B. Nguyén T4t Thanh.
C. Nguyén Truong To. D. Phan Chau Trinh.



Question 7: American President Donald Trump had a business trip to Viet Nam in November, 2017.
He made a speech during the time in Viet Nam that included the following part:

“It’s a sentiment that burns in the heart of every patriot and every nation. Our hosts here in
Vietnam have known this sentiment not just for 200 years, but for nearly 2,000 years. It was around
40 AD when ...... , first awakened the spirit of the people of this land. It was then that, for the first
time, the people of Vietnam stood for your independence and your pride.”

The appropriate information to fill in the “...... ” in the above extract is

A. Ngb Quyén B. binh Bo Linh

C. two Vietnamese sisters, the Trung Sisters ~ D. Tri€éu Thi Trinh
Question 8: We know that 5 sewing machines in a workshop finish sewing 5 T-shirts in 5 minutes.
How long does it take 100 sewing machines to finish sewing 100 T-shirts?

A. 10 minutes. B. 100 minutes. C. 20 minutes. D. 5 minutes.
Question 9: Which cycle is correct?

A. summer — fall — winter — spring.

B. seed — mature plant — fruit — seedling.

C. morning — sunrise — afternoon — sunset. ,cﬁ:

D. baby — teenager — child — adult.

Question 10: The cubes similar in size are put together as in the side picture.

When looking at it from the left, the right, or from in front and behind, we

can see that they look the same. How many cubes are there altogether? L
A. 25. B. 23. C.22. D. 24.

Question 11: Which cube CANNOT be made from the card of the side picture?
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A. Picture a. B. Picture b. C. Picture c. D. Picture d.

Question 12: Which picture in the following pictures a, b, ¢, d is
NOT cut from the side picture?

Picture a Picture b Picture c Picture d
A. Picture a. B. Picture b. C. Picture c. D. Picture d.

Question 13: There are some similar jars. The jar weighs 800 g when full of honey. When half full,
the jar weighs 500 g. What is the weight of an empty jar?

A. 50 g. B. 200 g. C. 100 g. D. 300 g.
Question 14: Three hens lay 4 eggs in two days. So, with that rate, how many days does each hen lay 2 eggs?
A. 3 days. B. 4 days. C. 6 days. D. 2 days.

Question 15: Read the following short story:
One day a rich dad took his son on a trip to a poor village.
He wanted to show his son how poor someone can be.
They spent time on the farm of a poor family.
At the end of the day the dad asked,
“Did you see how poor they are? What did you learn?”
The boy answered, “We have a dog, they have four.
We have a pool, they have rivers.



We buy food and they grow theirs.
We have walls to protect us, they have friends.”
Then they left, “Thanks for showing me how poor we are,” said the boy.
Which of the following statements fits the content of the story?
A. People’s ideas differ about wealth and poverty.
B. A poor person has a lot of properties.
C. Arrich person has a lot of properties.
D. People around us are all wealthy.
Question 16: According to the lunar or solar calendar, one year is comprised of 12 months. “Thang
chap” is a phrase to mean one specific month in the lunar calendar. Read the following verses:
Toi khon lon ciing trén dong song do
Chiéc xuong con cé rau diéc rau lang
Thirong chiéc do ba ba son ciia Ngoai
Tdm hon t6i mii séng nwée bat ngan

Théng chap vé, thang giéng dom béng sita
Khéi ld diva givip Ngoai ndu bdp ngd
Lugm tirng hat no tron khong bi viia
Ld chudi twoi tirng tam vuot hong khé
Which month of the lunar calendar is the phrase “Thang chap” used to mention?
A. Thang 1. B. Thang 12. C. Théang 11. D. Théang 2.
Question 17: Which of the following place names of Viet Nam respectively mean “Bai cat vang” and
“Bai cat dai”?
A. Pao Pht Qubc, Con Pao. B. Quan dao Trudng Sa, quan dao Hoang Sa.
C. Quén dao Hoang Sa, quan dao Truong Sa.  D. Cén Péo, ddo Phu Qudc.
Question 18: Choose the best option a, b, ¢ or d to complete the sentence.
Non-driver cars running in the street
A. are scientific products that have been developed and are being widely used in some parts of the world
B. are scientific desire humans can never realize
C. are scientific products that have been developed and are being experimented in some parts of the world
D. are scientific products humans will do research on in the future
Question 19: Which of the following Vietnamese proverbs is synonymous with this English saying
“Your dream doesn’t have an expiration date. Take a deep breath and try agam 7?7
A. Treo cao, té dau. B. C6 céng mai sat, c6 ngay nén kim.
C. Cau dwoc, wéc thay. D. Ddam nghi, dam lam.
Question 20: In a certain year, there are 4 Tuesdays and 5 Wednesdays in January. What day is the
first day of February in that year?
A. Friday. B. Thursday. C. Sunday. D. Saturday.
Question 21: Thanh ngir tiéng Anh dé chi mot ngudi c6 suy nghi vién vong, thiéu thuc té 1
A. “hold your horses” B. “head in the clouds”
C. “heart in your mouth” D. “blue in the face”
Question 22: To generally assess a person’s health, we often use the BMI indicator. Say “m” is the
weight of a person according to kilogram unit (kg), and “h” is the height of a person according to meter

unit (m). The BMI indicator is measured as follows: BMI = hmh .
X
The following table shows some health states of people’s body:
Sex Age BMI
g Undernourished | Underweight Normal Overweight Obese
Female 11 Under 14 14 - 155 15,5-20 20— 23,5 Over 23.5
12 Under 14,5 14516 16 —21 21 -245 Over 24,5
Male 11 Under 14 14 - 155 155-195 19,522 Over 22
12 Under 14,5 14516 16 — 20 20— 23 Over 23

Which classification is an eleven-year-old male student 40 kg in weight, 140 cm in height put into?

A. Obese. B. Underweight. C. Normal. D. Overweight.
Question 23: Which statement explains why the Sun appears to rise and set each day?

A. The Sun revolves around Earth. B. The Sun rotates.

C. Earth rotates. D. Earth revolves around the Sun.



Question 24: Beverage shops around the world and in Viet Nam are being persuaded to replace the
one-time-used plastic straw with the many-time-used straw made of metal (steel, aluminum, inox, ...)
or from plants (bamboo, grass, ...). What is the reason for this replacement?

A. The use of plastic straws should be limited to prevent environment pollution.

B. It is more economical because metal or plant straws can be used many times.

C. Metal or plant straws are safer for health than plastic ones.

D. Metal or plant straws are cheaper than plastic ones.
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PAP AN
(Mbi cau 2,5 &)
1.A 7.C 13.B 19.B
2.D 8.D 14. A 20.D
3.D 9. A 15. A 21.B
4.C 10.B 16. B 22.D
5.B 11. A 17.C 23.C

6.C 12.D 18.C 24. A



